920 Ro=14795

) - N A A A U
= o 8 o)) N N N @)
Q ol o Q| @ @ D N,
o S & D o o o Fo)
m\ — e o— : : : 3
On 8 8 C—D' [0)] [A}] Q
=3 e 3|2 @ | @38
2113 = @ |8 |a8|3| &
< Q| 3 o = =) 3 s
— o — | > Q c c S
3 =, Q = a' o Q)
—_ Q = Q — =3 E
Bl O | = 2| L] 5
= Q£ | &N
o o A<
[ @) (@] -
— ® | = | N
3 «Q Q -
[ o : ~
o o
R o
o 3
>
@ E
) 3
Q_ L]
o)
wn 00 | 2,60 |143.72 146,32 | 146,32 -
- 53 1,77 144,55 istn.studna bet. i
i %.g 7.3
(7)) 73 IF . 1,61 | 144,59 |146.20 [ 146,20 | studna betonowa
N N O DN1000 mm
=
x O
=
&)
O
A s
@ n
D 3 i
- N
<)
S
144,68 1 proj. wod. 2110 Ro=146,90
\ W2 -W1
w 57.4 4,06 |144,69 | 148.75 148,75 | studna betonowa $ \
w DN1000 mm o 3
33 )
®s istn. kabel energ. NN 920 Ro=147,96
144:78 7 &l s —Jstn. kabel teletech. =
0 3
NN
o
X
(7)) 761 | ° 527 |144,73 /150,00 [150,00 | studnabetonowa \ L
A N T 144,74 DN1000 mm 7 istn. kabel teletech. 20 Ro=14:
S < 144,74 / P’ ot
QO
x YV
cl o
| oo
%’ proj. wod. 932 Ro=147,34
wdZ23 - Wa
2 92,9 8 4,19 | 144,81149,00 | 149,00 studna betonowa -
(&) I.|; DN1000 mm
w
—
D
144,94 proj. wod. 832 Ro=147,35
wdZZ - W6
wn 124.4 4,03 |144,97 |149,00 [ 149,00 | studna betonowa —
» DN1000 mm .
- 145,05 : roj. wod. 832 Ro=146,44
w i a6~ Wg
wn 153.6 2,88 14512 148,00 [ 148,00 | studna betonowa
~ DN1000 mm
N
©
oo
@ 172.4 291 [145.21[14812 [148.12 L 4,1
145,22 proj. wod. 932 Ro=146,52
; Lo wod,
N
o %
o N
o
R
wn 1926 |°© 214 | 1453114745 [147,45| studna betonowa
(o'e} N O DN1000 mm
<
Q
C
| 145,42 proj. wod. 932 Ro=145,28
wn wd10 - W14
O
o
I'I> &'o
—| o
—
o
o
R
w 2304 |°© 239 |14571)148.10 [148.10 | studna betonowa
© DN1000 mm
N
w
- od od. 8110 Ro=146,69
145,99 roj. wod. @ 0=146,
~N 5v2'a-w17
N
R
(_’3 2539 | © 228 [146.12 |148.40 | 148.40 studna betonowa
() 82 DN1000 mm 8
R0
a &
[{]] ,:
g =
g ® 2
(i
o 2
N 146,79 prg%7wo‘c,1\’. 28«'32 Ro=146,66
Wi -
(_’2 2723 |& 1,79 |146,91(148.70 | 148,70 studna betonowa
o Y DN1000 mm ) {
<
%
|C
%)
) %
A
w e
B w
I_| ©
© 4
i
147,05 proj. wod. 832 Ro=14691
o
<
R
(_’3 3122 |°® 219 |147.11)149.30 | 149.30 studna betonowa -
w DN1000 mm
N
~N
\l
148,09 proj. wod. 932 Ro=148,42
wd19 - W31
(_’3 340.0 258 |148,62|151.20 [ 151,20 studna betonowa
D DN1000 mm
(_Q 0.0 228 |146,12 | 148.40 | 148,40 studna betonowa
o T DN1000 mm
< 3
Qo
C
wn
O
Py
W w
A o
—| oo
C_Q 36,8 2,39 |147.11]149,50 | 149,50 studna betonowa t(
- DN1000 mm
CIXIEIZ|4|9
Slwl=]2 |3 |a|c
S |lxlal|&|o 1T
N g = Q - e
5 |7|D Z 3
2 s 5 X
3 13| ol c o | ° z
=Rl BN = S - )
s s 2192 e z & :
NNl o 5|52 |85 )
= |83 |2 |p a0
S g5 |1 |3 |F 8 ~G
&8 |~ ~ |5 ol —
3 |3 |2 ; S % éU% a == N
g |= N B SR PG N m
s |2 (% LS m o -U
o |5 ~ SFes
B 0 |$=2 7 Q2.
s S|l o8 =3ye)
=~ ~ = =~ \
5 |52 8 N —n
2| = T8 —im — A
~ > 53 5 —
& Lo s O:
~ > g o
SE 538 o=
o | N 2 E
~° 2 i
L2 Q
5 5 —r
o » T = %) N Z | ©
8o [$2Z3| x>«
I T A
a 8 b




